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Section I Multiple Choice

Questions 1-5
5 Marks

Section I Questions 6-13

65 Marks

SECTIONI
o,
Multiple Choice (5 Marks}

Use the Multiple Choice Answer sheet for Quéstions 1-5

" 1.~ What is the exact value of cot 60°7

e

" B.

o
alm oG -
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p .
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2. Ifthelines3x — 2y +5=0 andy = kx — 1 are perpenélicular, what is the value
of k7 ’ . .

A—2

D. -3

3. Find all the values of x inthe interval 0° £ x < 360° for which ‘(anx = —1.\

{ A 45°,225°
" B.135°,225°
€. 135°% 315°
D.2255315° - L,




SECTIONII

65 marks
A . ) Attempt Questions 6 - 13
- : . Answer each question on a new page in the answer hooklet.

4. In the diagram belo.w, ABCisatriangle and AB || DE

15em

. QUESTION 6 (8 marks) Startona new page,

a) Find the exact value of sin'240°

- ¢ E SHom . b) Find the exact value of sec 225°
Given that AB = 15 cm, DE = 9 cm and BE = 6 ¢m, what is the value of BC? _ ¢} Aregular polygon has each interior angle equal to 140°, Find the
- ' sum of all its interior angles,
3.6cm .
A 36¢c d)
B, 6cm

C.9cm
Ty

5. The midpoinit of [a, b} hnd (5, ~3} is (1, 4). What are the values of  and b?

Aa=-7b= 1.1

B.a=11,b=—10, - '
; In the diagram above, find the value of x, giving reasons,

End of Question 6

END OF SECTION I




QUESTION 7 (8 marks) Start on a new page.

. - a} Evaluate [-2| —{—-8|

cos(90°-8) .
b). SImPHY Griieoorey

c) l“md the value of x cm in the diagram below. Leave} your answer
correct to the nearest cm, )

12-cm

d) The line through P{7, p) and Q(4, —5) has a gradient of 3. What is the
value of p?7 \

¢) Pind the value of x, giving reasons. All measurements are in cm.

[, L

Y

-] 1§

v

—]

End of Question 7

QUESTION 8 (8marks} Starton anew page.
a} Solve |2x — 3| < 7 and sketch the selution ona number line,

b} Foracute angles 4 and Bitis gwen thatsin4 = = and cosB = —7.
Find the exact valte of secA + tan B. -

¢} A man wishes to find out the height of a tower, to the nearest metve.

When he is 60 60 m from the base of the tower, he sees the top of the
tower at arl angle of elevation of 29°%

Not to scale

60 m

i.  Calculate the height of the tower to the nearest metre.

fi.  Ifhe moves 15 m closer to the tower, what will the angle of elevation
to the top now be, to the nearest degree?

End of Question 8




QUESTION 9 (8 marks) Start Ona new page.

a) The points P (—1,0),R (2,3} and @ (5,~2) are shown on the Cartesian Plane

ii.

fil.

below. The interval RQ meets the x-agis at T..
. Using the information on the following diagram

-

Show that the equation of the line PQis x + 3y +1=10

Find the length of PQ
Find the perpendicular distance from R to PQ
Find the area of triangle PRQ

Find the size of the angle RTP correct to nearest degree

End of Question 9 -

QUES:!‘I“ON{Q_LBMI;IQl . Starton a pefy page.

') show the exact value of 3 tan 210° + 2 5in 30 e'=

) . *" (Do notuse a calculator, s all steps
By~ Simplify (Sec.8.~T)(sech + 1)

Not to scaIe‘ ¢} The graph givenby y = |2x + k| wﬁere kis constant, passes through
‘ the point (2, 3). Find the possible values of k. ? & :

d) Find a value of x if cosec (5: — 25)° = sec 65°

e] W}_latis the equation of the line below? Leave your answer in general
form or gradient-intercept form. : ’

-

End of Question 10 _

Y




QUESTION 11 (8 marks) Start on anew page. . '
QUESTION 12 (Bmarks) Start on a new page.

i : a) 1. Slcekch the graph of y = [x + 3|, showing all important features
cosx cosx

a) Prove thatm‘f‘ Toatne = Zsecx - . 3

if. State the domain and range of y = [x + 3|
. b) ABCDisa para]leloéram and AP = QC. ' ) ' b) A section of a rainforest is to be scoured in the search for a new species. The -
L. - ) : ‘ , ) shape is shown below. _
! A P The bearing of landmark A from landmark O is 248°T and is 24 km in distance.
: - . The distance from landfark A to-Bis 40 km and from fandmark B to O is 35 k.

Not to scale

i. Prove A APD = A CQB. 2
ii. Hence provethatPD [ @B. 2
. Find the size of ZAOB. 2
End of Question 11 ii. . Hence or otherwise, calcuiate the area of this section of the rainforest. 1
ifi.  Whatis the bearing of landmark 0 from landmark B? . 2

End of Question 12




QUESTION 13 (2 marks) Startona ne{v page.
" 3
a) Solve cos?§ = for0° = 6 < 360°

b) -Find the shortest distance between the parallel lines
2x=3y+7=0and2x-3y-3=0

) The diagram below shows A ABC with AC =7, BC =10 and AB = 6. LABC =%
and ZACB = y. :

i,  Express the size of ZBAC in terms of x and y.

ii. Hence, show thatsinx + siny = % sin(x + y)

End of Examination @
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Question. 13

L) () lek <hop=o

d_] corec (zc —25) = nechS” ~AMD = ACBR (SAS)
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